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QUESTION 1

You have a class named Truck that inherits from a base class named Vehicle. The Vehicle class includes a protected
method named brake (). How should you call the Truck Class implementation of the brake () method? 

A. Mybase.brake () 

B. Truck.brakef) 

C. Vehicle.brake() 

D. Me.brake () 

Correct Answer: A 

The MyBase keyword behaves like an object variable referring to the base class of the current instance of a
class.MyBase is commonly used to access base class members that are overridden or shadowed in a derived class. 

 

QUESTION 2

In the life cycle of an ASP. NET Web page, which phase follows the SaveStateComplete phase? 

A. PostBack 

B. Postlnit 

C. Load 

D. Render 

Correct Answer: D 

The SaveStateComplete event is raised after the view state and control state of the page and controls on the page are
saved to the persistence medium. This is the last event raised before the page is rendered to the requesting browser. 

 

QUESTION 3

Which of the following must exist to inherit attributes from a particular class? 

A. Public properties 

B. A has-a relationship 

C. Static members 

D. An is-a relationship 

Correct Answer: D 

Visual Basic has been a pioneer of binary code reuse -- controls being the classic example. You reuse the code in a
control by placing an instance of the control on your form. This is known as a containment relationship or a has-
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arelationship; that is, the form contains or has a CommandButton. 

 

QUESTION 4

You are creating a database for a student directory. The Students table contains the following fields: 

Which statement will retrieve only the first name, last name, and telephone number for every student listed in the
directory? 

A. B. C. D. E. 

Correct Answer: D 

 

 

QUESTION 5

You run the following code: 

What is the value of result when the code has completed? 
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A. 0 

B. 10 

C. 20 

D. 30 

Correct Answer: B 
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